LASER MASTER 2PRO S2






THANK YOU!

Dear friends,
Thank you for purchasing the ORTUR Laser Master 2 Pro 52 laser engraver. We really appreciate your
recagnition and sincerely hope you enjoy this product.

ORTUR is a company specializing in the manufacture and research of laser engraving machines. At
present, ORTUR's products are sold all over the world, occupying a leading position in the industry. We
bring you the road of innovation with professional technology and services!

ORTUR's mission is to expand and innavate in the field of laser engraving to make its machines safer,
faster. Most importantly, affordable for everyone. Help small makers, studio artists, engineers and
freelancers grow their businesses and generate more income.

If you have any questions, please feel free to let us know and we will be here to help you. You can join our
Facebook group, which brings together innovators like you to share their ideas and get inspired by others.

Thank you again for your support, we will continue to provide quality products and services!



Content
DE - Inhalt FR - Contenu

Disclaimer and Safety Guidelines / Haftungsausschluss und Sicherheitsrichtlinien - e

{ Clause de non-responsabilité et consignes de sécurité

paf_kage Contents / Packungsinhalt J COMMENU AU COLE wremmsmmssssmssnassassnansnnisssss snsnnsansnsnssssnnsnsnss s snssumss snasunnsans s sansanmanans
Install the Machine / Installation der Maschine / Installation de la maching eeeeesmeae...

Connect Wire / Draht verbinden / Connecter les 1= T =

Install the Laser Module f Installieren Sie das Lasermodul --------
{ Installer le module laser

Part Description / ANSChIGSSe / DESIGNANON TS POMS s rresrserrsmresmisessnreer s s s s s ssse s s s

Important Note {Things that must be done before ST:'!ITing:l R AR AR RE SRS R AR R R

{ Wichtiger Hinweis (Vor dem Start zu erledigende Dinge)
{ Remarque importante (ce qui doit &tre fait avant de commencer)

Quick Start / SChnellstart / DEMAITAgE FaRIgE - -+ o e

Madify parameters before using YRR2.0 -
{ Andern Sie die Parameter, bevor Sie YRR2.0 verwenden
/ Madifier les parameétres avant d'utiliser YRR2.0

29

- 31

40

41

44

- 48



Disclaimer and Safety Guidelines '

DE - Haftungsausschluss und Sicherheitsrichtlinien
FR - Clause de non-responsabilité et consignes de securite

1. The laser enqr:avet could generate laser light. It is strictly forbidden to place any living body under the laser
emission port (this port is marked with a yellow warning sign).

2. Patients with photosensitive epilepsy are prohibited from using or approaching the laser device.

3. when using the laser engraving machine, the operator and anyone near the machine must wear laser safety
Slasses, Do not operate the laser without glasses protection (laser goggles).

ur rnacl'glrhes come with a pair of safety goggles, but additional laser safety glasses can be purchased
commercially.
Requirements for goggles: wavelength protection 400-445nm (+-5nm), outer diameter +5, minimum L-level L5.
4, When the laser engraver is working, the operator must pay close attention and not place it alone to prevent the
engraved material from catching fire, .
Please set up the laser engraver in a fireproof area and ensure good ventilation. )
If possible, we recommend that you purchase a fire extinguisher and keep it close to the machine.
5. Using the laser engraver in a room that can be closed by a door, making sure that neither the laser beam nor
stray light can penetrate the window.
6. When using the laser engraver, put the door sign or the warning light on the door to indicate that the laser
engraver is running.
?H Make ﬁUfE‘ there is no flammable material near the laser engraver, we recommend put a fireproof mat under
the machine,
8. Ensure adequate environment when aperating the laser engraving. Engraving certain materials may generate
fumes, which should be exhausted by a dedicated filtered exhaust.
9. when the machine is running, do not touch the laser beam ar touch it with other objects, which may cause
serious bodily injury or beam réflection. )
Do nat touch the radiator, you may burn your body and hands when the laser engraver just stops working.
10. Do not let children or teenagers use the laser engraver alone (especially children under the age of 14), adult
supervision is required at all times.
Tl Fgr commercial use, using and registering with regulatory authorities and professional associations is
mandatory.

12. The operating temperature range of the machine is -15°C ~ 30°C.

13. There would be a high risk of fire, when the laser irradiates the engraved object. If the laser engraver is
working, it must be taken care of at all times by the skilled operator, wha knows how to use a fire extivnguisher, so
that any unexpected situations could be dealt with in time.

14. The flame sensar is provided to keeF our equipment as safe as possible and no warranty, written or implied, is
made as to the availability or functionality of the flame sensor.




1. Der Lasergravierer kdnnte Laserlicht erzeugen. Es ist strengstens verboten, lebende Korper unter die Laseremissionsoff-
nung 2u bringen {diese Offnung ist mit einem gelben Warnschild gekennzeichnet).

2. Patienten mit lichtempfindlicher Epilepsie ist es untersagt, das Lasergerat zu verwenden oder sich ihm zu nahern.

3. Bei der Verwendung der Lasergravurmaschine missen der Bediener und alle Personen in der Nahe der Maschine eine
Laserschutzbrille tragen, Betreiben Sie den Laser nicht ahne Brillenschutz (Laserbrille).

Unsere Maschinen werden mit einer Schutzbrille geliefert, aber zusatzliche Laserschutzbrillen konnen im Handel erworben
werden,

Anforderungen an Schutzbrillen: Wellenlangenschutz 400-445 nm (+-5 nm), AuBendurchmesser +5, mindestens L-Level
LS.

4. wenn der Lasergravierer arbeitet, muss der Bediener genau aufpassen und ihn nicht alleine platzieren, um zu
verhindern, dass das gravierte Material Feuer fangt.

Bitte stellen Sie den Lasergravierer in einem feuersicheren Bereich auf und sorgen Sie for gute Beldftung.

wenn moglich, empfehlen wir lhnen, einen Feuerldscher zu kaufen und ihn in der Nahe der Maschine aufzubewahran.

5. verwenden Sie den Lasergravierer in einem Raum, der durch eine Tor geschlossen werden kann, und achten Sie darauf,
dass weder der Laserstrahl noch Streulicht durch das Fenster dringen kann.

6. Wenn Sie den Lasergravierer verwenden, bringen Sie das Tarschild oder die Warnleuchte an der Tar an, um anzuzeigen,
dass der Lasergravierer lauft,

7. Stellen Sie sicher, dass sich kein brennbares Material in der Nahe des Lasergravierers befindet. Wir empfehlen, eine
feuerfeste Matte unter die Maschine zu legen.

8. Stellen Sie beim Betrieb der Lasergravur eine angemessene Umgebung sicher. Beim Gravieren bestimmter Materialien
kénnen Dampfe entstehen, die durch einen speziellen gefilterten Auspuff abgefihint werden sollten.

9. Ber(ihren Sie bei laufender Maschine nicht den Laserstrahl oder berihren Sie ihn mit anderen Gegenstanden, da dies zu
schweren Kdrperverletzungen oder Strahlreflexionen fhren kann,

BerGhren Sie den Kohler nicht, Sie konnten sich Kérper und Hande verbrennen, wenn der Lasergravierer einfach aufhrt zu
arbeiten.

10. Lassen Sie Kinder oder Jugendliche den Lasergravierer nicht alleine benutzen (insbesandere Kinder unter 14 Jahren),
die Aufsicht eines Erwachsenen ist jederzeit erforderlich,

11. Fir die gewerbliche Nutzung ist die Nutzung und Registrierung bei Aufsichtsbehdrden und Berufsverbanden zwingend
erforderlich.

12. Der Betriebstemperaturbereich der Maschine betragt -15°C ~ 30°C.

13. Es besteht eine hohe Brandgefahr, wenn der Laser das gravierte Objekt bestrahlt, Wenn der Lasergravierer funktioniert,
muss er jederzeit von einem erfahrenen Bediener betreut werden, der mit dem Umgang mit einem Feuerldscher vertraut
ist, damit unerwartete Situationen rechtzeitig behoben werden kbnnen.

14, Der Flammensensor wird bereitgestell, um unsere Ausrastung so sicher wie moglich 2u halten, und es wird keine
schriftliche oder stillschweigende Garantie hinsichtlich der Verfugbarkeit oder Funktionalitat des Flammensensors
gegeben.

-04-




1. Le graveur laser peut générer un faisceau laser. Il est strictement interdit de placer tout corps vivant sous e port
d'émission laser (ce port est marqué d'un panneau d'avertissement jaune),

2. Il est interdit aux personnes souffrant d'épilepsie photosensible d'utiliser ou de s'approcher de I'appareil laser.

3. Lors de l'utilisation de la machine de gravure laser, l'opérateur ainsi que toute personne a proximité de la machine
doivent porter des lunettes de sécurité laser. Nutilisez pas le laser sans lunettes de protection (lunettes laser).

Nos machines sont livrées avec une paire de lunettes de sécurité, mais des lunettes de sécurité laser supplémentaires
peuvent étre achetées dans le commerce,

Exigences psoq.lr les lunettes : protection contre les longueurs d'onde 400-445 nm (+-5 nm), diamétre extérieur +5, niveau L
minimum LS.

4. Lorsque le graveur laser fonctionne lutilisateur doit rester vigilant et & praximité immédiate de I'appareil pendant toute
la durée de la gravure, pour éviter les risques d'incendie.

Veuillez installer le graveur laser dans une zone ignifuge et assurer une bonne ventilation.

51 possible, nous vous recommandons d'acheter un extincteur et de le garder a proximité de la machine.

5. Utilisez le graveur laser dans une pigce qui peut &tre fermée par une porte et assurez-vous que ni les rayans laser ni la
lumigre parasite ne peuvent penétrer par les fenétres.

6. Lorsgque vous utilisez le graveur laser placez un signe sur la porte ou un avertisseur lumineux pour indiquer que le laser
est en fonctionnement.

7. Assurez-vous qu'il n'y a pas de matériau inflammable a praximité du graveur laser, nous vous recommandans de placer
un tapis ignifuge sous la machine.

8. Assurez-vous que l'environnement est adéquat lors de ['utilisation du graveur laser, La gravure de certains matériaux
peut générer des fumées, qui doivent &tre évacudes et filtrées par une évacuation dédiée.

9. Lorsque la machine est en marche, ne touchez pas le faisceau laser ou ne le touchez pas avec d'autres objets, ce qui
pourrait entrainer des blessures corporelles graves ou une réflexion du faisceau,

Ne%nuchez pas le radiateur, vous risquez de vous briler le corps et les mains et cela méme lorsque le graveur laser cesse
de fonctionner.

10. Ne laissez pas les enfants ou les adalescents utiliser le graveur laser seuls (en particulier les enfants de moins de 14
ans), la surveillance d'un adulte est requise & tout moment.

11. Pour un usage commercial, |'utilisation et I'enregistrement auprés des autorités réglementaires et des associations
profession- nelles sont obligatoires.

12, La plage de température de fonctionnement de la machine est de -15°C ~ 30°C.

13. lly aurait un risque élevé d'incendie, lorsque le laser irradie |'objet grave. Si le graveur laser fonctionne, il doit étre
surveillé & tout moment par 'opérateur qualifié, qui sait utiliser un extincteur, afin que toute situation inattendue puisse
Etre traitée & temps.

14, Der Flammensensor wird bergitgestellt, um unsere Auil‘liswntﬁr:: sicher wie maglich 2u halten, und es wird keine
schriftliche oder stillschweigende Garantie hinsichtlich der Verfugbarkeit oder Funktionalitat des Flammensensors
gegeben.




Package Contents
DE - Packungsinhalt FR - Contenu du colis

O Motherboard Assembly / Mo U“’LDCFU Montage O ¥ Limit Switch / Y-Endschalter
f Aassemblage de la carte méne ™ / Commutateur de limite ¥ *1

O ¥ Aluminum Profile-540mm / Y-Aluminiumprofil-540 mm / Profil en aluminium Y-540mm *2
= e e i T

O ¥ Aluminum Profile-460mm £ X Aluminiumprofil-460mm / Profil en aluminium X-460mm *2

O Assembly of X-axis / Montage der X-Achse / Assemblage de l'axe X ™1

}

O Base Anchors / Basisanker [0 Fixing Plate 1 / Befestigungsplatte 1
! Ancres de base *3 / Plague de fixation 1 *1

O Fixing Plate 2 / Befestigungsplatte 2
! Plague de fixation 2 *1

)



O

Md*emm Screws f Ma*6mm Schrauben
1 Vis M4*6mm *6

-

M5*25mm Screws f M5*25mm Schrauben
f Vis M5*25mm *4

Corner Connectors f Eckverbinder
/ Connecteurs d'angle *4

o

M5 Spacers / M5 Abstandshalter
1 Entretoises M5 *4

pe

-

Cable Loom / Hauptdraht 7 Cable principal *1

&

Laser wire [ Laserdraht / Cable laser *1

=

O M5*8mm Screws / M5*8Bmm Schrauben
1 Vis M5*8mm *14

T

O M5 T-nuts £ M5 T-Muttern
/ Ecrous en T M5 *3

g

U

M5 Profile Nuts / M5 Profilmuttern
f Ecrous profilés M5 *6

B

O Timing Belt / Zahnriemen
/ Courroie de distribution *2

©S®

O USB Cable / USB-Kabel / Cable USB *1

S

-07-



Testing Acrylic / Acryl zum testen
/ Plague de test en acyligue *1

Testing Alurminium Sheet
{ Prifung von Aluminiumblech
{ Feuille d'aluminium d'essai *1

Brush / Burste / Brosse *1

!

wrench / Schlissel f Clé *1

D

Angle Fasteners / winkelbefestigungen

I Attaches angulaires *4

O Testing Woods / Holz zum testen
/ Plague de test en bois *4

=S

O 2 & 2.5mm Allen key / 2 & 2.5-mm-Inbusschiossel
1 Clé Allen de 2 & 2.5mm *1

—_—
Fr—

L

e

[0 Laser Goggle / Laserbrille / Lunette Laser *1

J—

O Power Adapter / Netzteil / Adaptateur secteur *1

4

O Cable Ties / Kabelbinder
/ Attaches de cable *10

T e



LU2-2(2.1w)Laser Module
DE-LU2-2(2.1w)Laser Module  FR-Module Laser LU2-2(2.1w)

[ LU2-2(2.1w) Laser Module / LU2-2(2.1w) LaserModul [ Laser Shield / Laser-Schild / Bouclier laser *1

/Module Laser LU2-2(2.1w) "1

[ laser line / Mit laser
/ Ligne laser * 1

[ Bloc de Focus / Fokusblock

[ Thumbscrew / Fllgelschraube
/bloc de mise au point * 1

/Vis moletee * 1

— = H

-09-



LU2-4-LF Laser Module

DE - LU2-4-LF Lasermodul FR - Module laser LU2-4-LF

1 LU2-4-LF Laser Module / LU2-4-LF Lasermodul
f Module laser LU2-4-LF *1

O Laser Shield / Laser-Schild / Bouclier laser *1

[0 Focal Gauge / Fokusanzeige / Jauge focale *1

|

O Air Assist / Luftunterstitzung / Buse d'air *1

F

[0 Pipe Connectar / Rohrverbinder
{ Connecteur de tuyau *1

[0 Screws + Nuts / Schrauben + Muttern
! Vis + Ecrous *2

B o=

O Thumbscrew / Flogelschraube / Vis moletée 1

b

[0 Gauge Holder f Messgerathalter
f Support de jauge *1

O Air Flow Regulator / Luftstromregler
! Régulateur de débit d'air *1

‘D)



0O Set Screws [ Stellschrauben 0O 1.5mm Allen key / 1.5-mm-Inbusschlissel

/ Vis de réglage *2 / Cle Allen de 1.5mm *1
m
1 I.
O Quick Twast At Right Angle O Air Pipe (OD:6mm |D:4mm)
/ Schnelle Drehung im rechten wWinkel I Luftleitung (AD: 6mm ID: 4mm)
{ Torsion rapide a angle drait *1 / Conduite d'air (OD: 6mm ID: 4mm) *1

L O

LU2-4-SF Laser Module
DE - LU2-4-SF Lasermodul FR - Module laser LU2-4-SF

[0 LU2-4-5F Laser Module / LU2-4-5F Lasermodul [0 Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F *1 / Carte de jauge focale *1

0O Thumbscrew / Fligelschraube f Vis moletée ™1

| ——



LU2-10A Laser Module
DE - LU2-10A Lasermodul FR - Module laser LU2-10A

0 LU2-10A Laser Module / LU2-104 Lasermodul 0 Laser Shield / Laser-Schild / Bouclier laser *1
[ Module laser LU2-104*1 ]
[0 Air Assist / Luftunterstitzung / Buse d'air™ O Thumbscrew / Fligelschraube / Wis moletée ™1
O Pipe Connector / Rohrverbinder O Air Flow Regulator / Luftstromregler
/ Connecteur de tuyau *1 / Régulateur de débit d'air *1

e
(" |

[0 Air Pipe (OD:6mm ID:4mm)
/ Luftleitung (AD: 6mm |D: 4mim)
f Conduite d'air (OD: 6mm ID: 4mm) *1



Install the Machine
DE - Installieren Sie den Laser FR - Installer 'appareil

1.0 O ¥ Aluminum Profile-540mm / Y-Aluminiumprofil-540 mm / Profil en aluminium Y-540mm *2

O X Aluminum Profile-460mm / X Aluminiumprofil-460mm / Profil en aluminium X-460mm *2

O MS5*25mm Screws / M5*25mm Schrauben
{ Vis M5*25mm *4

1 Corner Connectors / Eckverbinder O M5 Profile Nuts / M5 Profilmuttern
f Connecteurs d'angle *4 { Ecrous profilés M5 *4

¢ -

O 2.5mm Allen key / 2.5-mm-Inbusschlissel
/ Clé Allen de 2.5mm *1

—_—
|




file-540mm £ Y-Aluminiumprofil-540 mm / Profil en aluminium Y-540rmm *1

Y Aluminum Pro




1.2

X Alupnir

file-460mm / X Aluminiumprofil-460mm / Profil en aluminium X-460mm *2




1.3




1.4

T Pro

£

le-540mm / Y-Aluminiumprofil-540 mm

Profil en aluminium Y-540mm *1




1.5




1.6

-19-

Crews|

iben!



2.0

4

i

p Assembly of X-axis /

Montage der X-Achse / Assemblage de ['axe X *1

-20-



3.0

1 M5 Profile Nuts / M5 Profilmuttern

] Motherboard Assembly / Motherboard 1 Base Anchors / Basisanker

-Montage / Assemblage de la carte mére *1 / Ancres de base *3
Timing Belt / Zahnriemen O ¥ Limit Switch / Y-Endschalter
{ Courroie de distribution *2 { Commutateur de limite ¥ *1

©S°

M5*8mm Screws f M5*"Bmm
/ Ecrous profilés M5 *2 Schrauben / Vis M5*8mm *10

o

{

M5 Spacers / M5 Abstandshalter
{ Entretoises M5 *4

-21-



_22-



3.2

Push the sernbly
/ Schieben Sie die Baugrupp
berdhren!

as to the bottom, making ¢
ler X-Achse nach unte

! Poussez l'ensemble de 'axe X vers le bas, en vous as

-23-



3.3

The timing belt needs to go thrc
f Der Zahnriemen muss rich

Is correctly!
aufen!
/ La courroie de distribution doit passer correctement dans les roues!

-24-



3.4

-25-



4.0 Fixing Plate 1 / Befestigungsplatte 1 M5*Bmm Screw / M5*8mm Schrauben
/ Plaque de fization 11 f Vis M5*8rmm *1
i

\ s

O M5 Spacer f M5 Abstandshalter O M5 T-nut / M5 T-Muttern
/ Entretoises M5 *] { Ecrous en T M5 *1

<)

-26-



4.1

Fixing Plate 2 / Befe
/ Plague de fixation

<

stigungsplatte 2
-
2

M4*amm Screws / M4*6mm Schrauben
! Vis MA*6mm ™2

A
s

-27-



4,2 0O Cable Loom / Hauptdraht / Cable principal *1 1 Ma*smm Screws / M4*6mm Schrauben
& ! Vis M4*6mm *4

A

| s

-28-



Connect Wire
DE - Draht verbinden FR - Connecter les nappes

1.0

Cable Tie / Kabelbinder
! Attaches de cable "1

The wire terminal must be inserted into the end of the port!
/ Die Drahtklernme muss in das Ende des Ports eingeflhrt werden!
/ La borne de cable doit &tre insérée dans l'extrémité du port!

-29-



11

Laser Wire / Laserdraht / Cable laser *1

& Cable Ties / Kabelb
/ Attaches de cable

inaer
"

M5*8mm Screw
/ M5*8mm Schrau
[ \Vis M5*8mm *1

Connect the cables according to the picture.
/ SchlieBen Sie die Kabel gemal dem Bild an.
/ Connectez les cdbles confarmément a l'image.

-30-



Install the LU2-2(2.1w)Laser Module

DE-Installieren sie das LU2-2(2.1w)Laser Module R-Installer le Module Laser LU2-2(2.1w)
LU2-2(2.1w) Laser Module / LU2-2(2.1w) LaserModul O Focal Gauge Board / Focal Gauge Board
/Module Laser LU2-2(2.1w) *1 [ Carte de jauge focale *1

Thumbscrew / Fligelschraube / Vis moletee *1

-31-



Cable Ties / Kabelbinder
/ Attaches de céble *2

-32-



Install the LU2-4-LF Laser Module
DE - Installieren Sie das LU2-4-LF Lasermodul FR - Installer le module laser LU2-4-LF

1 LU2-4-LF Laser Module / LU2-4-LF Lasermodul 0O Screws + Nuts / Schrauben + Muttern

!/ Module laser LU2-4-LF *1 / Vis + Ecrous *2
O Laser Shield / Laser-Schild / Bouclier laser *1 O Thumbscrew / Flogelschraube / Vis moletée 1
O Focal Gauge / Fokusanzeige f Jauge focale *1 O Gauge Holder / Messgerdthalter

f Support de jauge *1

O Cable Ties / Kabelbinder O M5*8mm Screw f M5*"8mm Schrauben
I Attaches de cable *2 f Vis M5*8mm *2

(-

|

l

O M5T-nut / M5 T-Muttern
/ Ecrous en T M5 *2

1))

-33-



1.0

-34-



1.1

-35-

Cable Ties / kabelbinder
! Attaches de cable *2




Install the LU2-4-SF Laser Module
DE - Installieren Sie das LU2-4-SF Lasermodul FR - Installer le module laser LU2-4-5F

[0 LU2-4-5F Laser Module / LU2-4-5F Lasermodul

O Focal Gauge Board / Focal Gauge Board
/ Module laser LU2-4-5F *1

[ Carte de jauge focale *1
O Thumbscrew / Fligelschraube / Vis moletée *1 [0 Cable Ties / Kabelbinder

E I Attaches de cable *2

==

-36-



3.1

Cable Ties / Kabelbinder
/ Attaches de cable *2

-37-



Install the LU2-10A Laser Module
DE - Installieren Sie das LU2-104A Lasermodul FR - Installer le module laser LU2-10A

0 LU2-10A Laser Module / LU2-104 Lasermodul ] Laser Shield / Laser-5Schild / Bouclier laser *1
f Module laser LU2-104 ™1

O Thumbscrew / Fligelschraube / Vis moletée 1

B —

1.0

-38-



1.1

-39-



Port Description
DE - Anschliisse FR - Désignation des ports

4 5 6 7
1. Reset Button / Reset-Taste 2. Flame Alarm / Flammenalarm
/ Bouton de réinitialisation / Alarme de flamme
3. Emergency Stop Button / Not-Aus-Taste 4, Power Input / Stromeingang
/ Bouton d'arrét d'urgence / Entrée d'alimentatior
5. USE Port / USB-Anschluss 6. Offline Controller / Offline-Contraller
I I 1 2 o
/ Part UsB { Contréleur hors ligne
/. Main Power Button
/ Hauptn chalter
/ Bouton d'alimentation principal

-40-



Important Note
DE - wichtiger Hinweis FR - Remarque importante

1 Thingst must be done before starting! / Vor dem Start zu erledigende Dinge!
{ ce qui doit &tre fait avant de commencer! ey

¢y stop button is unlocked befare ¢

tarting up!
alter vor der Inbe nahme entrie st
urgence est daverrouillé avant de démarrer!

-41-



2.0 Ifyou are using win? or wing system, you need to install the driver manually: ) )
£ Wwenn Sie ein Win7- oder Wing-System verwenden, massen Sie den Treiber manuell installieren.
/ Sivous utilisez le systéme winy ou wing, vous devez installer le pilote manuellernent.

2.1 Please turn on the machine and connect the computer with a USB cable before starting!
/ Bitte schalten Sie die Maschine ein und verbinden Sie den Computer mit einem USB-Kabel, bevor Sie beginnen!
I Veuillez allumer la machine et connecter 'ordinateur avec un cable USB avant de commencer!

2.2 Download Links / Download links / Liens de téléchargement: https://zadig.akeo.ie/

The downloaded driver must be wersion 2.5!
{ Der heruntergeladene Treiber muss Version 2.5 sein!
/ Le pilote téléchargé doit &tre la version 2.5!

23

B Zadig [F=——)
Device m Help
¥ List All Devices |
% [wasae  Tgnore Hubs or Componite Parerts =] eae
w  Create a Catalog File
Driver| | Sign Catalog & Install Autogenerated Certificate ";';hﬂ'"m
g B UL Advanced Mode s
wep|  Leg Verbosty | s -
3 devices found. Zadig 2.5.73

Please run the driver with administrator privileges.
/ Bitte fUhren Sie den Treiber mit Administratorrechten aus.
I'Veuillez exécuter le pilote avec des privileges d'administrateur.

-42-



2.5

3 devices found, Zadig 2.5.730

Select "Espressif COC Device (Interface 0)",
/ wahlen Sie .Espressif COC Device (Interface 0) " aus.
I Sélectionnez "Espressif COC Device (Interface 0)°

|Expressif COC Devee (inlertace 0) =) Fleae
USBID 3 4003 0 by
wem? X -:'M

3 devices found. Zadig 2.5.730

Select "USB Serial (CDC)" from the list of drivers available, click the Install Driver button, and wait far the
installation to complete.

/ Wahlen Sie ,USB Serial (CDC) " aus der Liste der verfiigbaren Treiber, klicken Sie auf die Schaltflache Treiber
installieren und warten Sie, bis die Installation abgeschlossen ist,

/ Selectionnez "USB Serial H‘ZD_C}' dans la liste des pilotes disponibles, cliquez sur le bouton Installer le pilote
et attendez la fin de |'installation.

-43-



Quick Start
DE - Schnellstart FR - Démarrage rapide

LaserGRBL is a free and open source software that supports Windows computers.
/ LaserGREL ist eine kostenlose Open-Source-Software, die Windows-Computer unterstatzt,
[ LaserGRBL est un logiciel gratuit et open source qui prend en charge les ordinateurs Windows.

1.0: Download Link: https://lasergrbl.com/
[ Download-Link: https://lasergrbl.com/ v R
/ Lien de téléchargement : https://lasergrbl.com/ pa—

2.0: Connect / Verbinden / Connecter

-

4 LaserGRBL v4.8.0

Grbl File Colors language Tools (.| .coGREL and cannect the machine.

COoM |t:oM3 vl Baud 115200 / Offnen Sie LaserGRBL und verbinden Sie die Maschine.
/ Ouvrez LaserGRBL et connectez la machine.

Fllename &
Poges [ 1P
2.1: Unlock / Entsperren / Déverrouiller
_ W aa

000 |[¥I3

Lines: © | Buffer | | | Estimated Time: mow i 15 [1.00x1 31 [1.004130 [1.00s]]_ Status: [}

-44-



3.0: Choose engraving picture / Wahlen Sie ein Gravurbild / Choisissez l'image de gravure

'i LanerdRBL vl B & Open x
Gkl Fe  Colons w Toul g _ + Mg, oo . P
oM CoMa e

B _]—ll Deganize = Pichass - @
r\q— I e S =

- orturlogo.p [— 2

A.D'uv mt- -\nn-lmulm n .“"m ng
o ouzonr ama.
| sz pse_pm .2, 3 W The iternet
| oy o —_—
I Filename (i secipng | Aoy capponed e Pt -

g
ol 1af 5" for nals]

L

4.0: Engraving Settings / Gravureinstellungen / Paramétres de gravure
& import Raster image

Famaters
Batize  Smssth () Birshin)
Grauedls  Zimplukrarspe -

- —_— Please check the settings by serial number!
St — / Bitte Oberpriifen Sie die Einstellungen anhand der Seriennummer!
n‘_‘:“" P — / Veuillez vérifier les parameétres par numeéro de série!

P TY Rl LIl
1) Waetari en®
0 Comturline
O Pussthewngh
Line To Lina Optivas

2: The greater the quality, the darker the color.
f Je hoher die Qualitat, desto dunkler die Farbe.
I Plus la qualité est élevée, plus la couleur est foncée,

-45-



| Target image . 4: Ifthe calor is lighter, reduce the speed.
{roned ! / Wenn die Farbe heller ist, verringern Sie die Geschwindigkeit.
M'M—ﬂ'i— / Sila couleur est plus claire, réduisez la vitesse.
Lazar Opticns |
ar Mode B - o Fowar 1 5
%_ﬂ_ 6: Laser power intensity control.

[ Steuerung der Laserleistungsintensitat.

Faven Jine o Te kit [aa / Contrdle de l'intensité de la puissance laser.

(O] Autosize 300 b1
G _viwo wEme  pp—>-— 7 Adjust the size according to your needs.
{ 5 / Passen Sie die GroBe Ihren Bedirfnissen an.
ol LN C - ) /! Ajustez |a taille selon vos besains.

et (ET— 8

5.0: Cut Settings / Schnitteinstellungen / Paramétres de coupe

Al o Relor omacr Please check the settings by serial number!

i i o f Bitte (Oberpriifen Sie die Einstellungen anhand der Seriennummer!
Bewite  Taseth O Biesbied o "

s sistunr - C

S i)
et

R e

A ScpAhawd ol )

-46-



Target image

Spaad

[Border Spasd 100 safain  ——fg———
Lagar Options
D taabu: P i 4
SHIN o oo

B e e }—8

Tangs Sine ead Fasi bion [nal
() hukozies 300 | DPI
ot 300 100 o

-

3: The slower the speed, the deeper the cut, but the
object may be scorched!

/ Je langsamer die Geschwindigkeit, desto tiefer der
Schnitt, aber das Objekt kann versengt werden!

/ Plus la vitesse est lente, plus la coupe est profonde,
mais l'objet risque d'étre bralé !

5: Laser power intensity control.

{ Steuerung der Laserleistungsintensitat,

{ Contrdle de l'intensité de la puissance laser.

6: Adjust the size according to your needs.
{ Passen Sie die GroBe Ihren Bedlrfnissen an.
{ Ajustez la taille selon vos besoins.

7

5.0: start engraving or cutting / Beginnen Sie mit dem Gravieren oder Schneiden

/ Commencez a graver ou a découper

3 LaserGREL v4.8.0

Grbl File Colors Language Tool
COM COM3 Baud 115200 &
Filename orturlogo png e
Progres | | =

-47-



Modify parameters before using YRR2.0
DE - Andern Sie die Parameter, bevor Sie YRR2.0 verwenden
FR - Modifier les parametres avant d'utiliser YRR2.0

4 LaserGRBL v4.8.0
Grbl  File Colors Language Tools

| Vaiee s T
% s iﬁ £l — Inmﬂmouom¢m“:nu---:
m Reset I.a’ l s umwm*mm"ﬂ;...l
@ Homing 0 &ie P e Ty ey
a U.M I 1 beoleas Insbles soft limits chechs withis machis. ..
£ ik [Wesn smablad lsmsslstaly halts motiza s
oo Grbl Configuration _Jfwieciiol TS - | cnesies vomine crie. Smmiins imis i
€ Setings o fon [ s s siswae = | |
W Materisl DB 1990500 mumin | sesk ruve sa quishiy fims ke lomts s
T -ni——ulln- shart dalay Bevesen phasss of hem.
D Hotkeys for hel. s m [T ——————
X HE"" d;b-.-m-"-:-r:—l adills a‘“‘ J
1: Click "Grbl Configuration”. 28 Change the '\."alue Df '§22° tc- 0
/ Klicken Sie auf ,Grbl-Kenfiguration “. { Andern Sie den "Wert" von "$22" auf 0.
/ Cliquez sur "Configuration Grol”. { Remplacez la "valeur® de "$22" par 0.

o) ] & b

3: Click "write" to save the modification, and then click "Refresh® to check whether the modification is successful.
{ Klicken Sie auf ,Schreiben “, um die Anderung zu speichern, und klicken Sie dann auf ,Aktualisieren “, um zu
pridfen, ob die Anderung erfolgreich war.

/ Cliquez sur "Ecrire”™ pour enregistrer la modification, puis cliquez sur "Actualiser” pour vérifier si la modification a réussi.

when not using YRR2.0, please restore the parameters to the initial values!
{ Wenn Sie YRR2.0 nicht verwenden, setzen Sie die Parameter bitte auf die Anfangswerte zurlick!
{ Lorsque vous n'utilisez pas YRR2.0, veuillez restaurer les parametres aux valeurs initiales |

-48-



(EM) Address: No. 1 Building, Ruijin Science and Technology Industrial Park, Changping, Dongguan 523558, Guangdong, China
(DE) Adresse: Gebaude Nr. 1, Ruijin Science and Technology Industrial Park, Changping, Dongguan 523558, Guangdong, China
(FR) Adresse: No. 1 Bitirment, Ruijin la science et de La technologie du pare industriel, Changping, Dongguan 523558, Guangdaong, Chine

Youtube Instagram Twitter Facebook Support

EDA (EFE & X £ @[=-=@ ROHS



RTUR



